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Section A

Directions: [In this section, you will hear 10 short conversations.

Model Test One

Part I Listening Comprehension

At the end of each conversation, a question will be asked about

what was said. Both the conversation and the question will be

spoken only once. After each question there will be a pause. During

the pause, you must read the four choices marked A), B), C) and

D),

and decide which is the best answer. Then mark the corre-

sponding letter on the Answer Sheet with a single line through the

center.

1.

2.

3.

A) John must have been working hard.

B) John probably did not work hard.

C) The woman was surprised to hear the news.

D) The man and the woman are sorry to hear the news.
A) The woman could not wait to see Jane.

B) Jane is eager to pass the information she knows.
C) Jane talks to people only on the phone.

D) The woman always knows the latest news in town.
A) Look for a more expensive hotel.

B) Go to another hotel by bus.

C) Try to find a quiet place.

A
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D) Take a walk around the city.
4. A) They are talking about nice children.

)
)

B) The man has a house for sale.
)

C) The woman lives in a nice house.
D) The man has three children.
5. A) Go out to work. B) Listen carefully to John.
C) Be calm and patient. D) Do the easiest thing.
6. A) He doesn’t like to talk. B) He is a very kind man.
C) He is friendly. D) He is not a pleasant person.

7. A) The doctor won’t see her tomorrow.
B) The doctor is busy tomorrow.
C) The doctor is busy all day today.
D) The doctor will see her today.

8. A) Rose was dismissed. B) Rose was often late.
C) Rose was lazy. D) Rose went away.
9. A) In a travel agency. B) At an airport.
C) At a restaurant. D) At a hotel.
10. A) 10 A. M. B) 12 A. M.
C)5P.M D) 2P. M.
Section B

Directions: In this section, you will hear 3 short passages. At the
end of each passage, you will hear some questions. Both the pas-
sage and the question will be spoken only once. After you hear a
question, you must choose the best answer from the four choices
marked A), B), C)and D), then mark the corresponding letter on
the Answer Sheet with a single line through the center.

QN
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Passage One
Questions 11 to 13 are based on the passage you have just heard:
11. A) $1208 B) $ 1218

C) $1318 D) $ 1380

12 . A) The young man looked too young to buy cars.
B) The young man was not serious.
C) The young man was not polite enough.

D) The young man didn’t look like being able to afford the cars.

13. A) He wanted to make some money from selling those cars se-
cretly in Norway.
B) He wanted to reward his workers with the cars.
C) He hoped to open a car shop of his own in Norway.

D) He wanted to buy the cars for himself and his colleagues.
Passage Two

Questions 14 to 17 are based on the passage you have just heard:
14. A) A spoken language.
B) A written language.
C) A language based on road signs.
D) A language based on hand movements.
15. A) The Indians didn’t have spoken language.
B) The Indians speaking different languages needed to commu-
nicate with each other.
C) Some Indians had difficulties expressing themselves with their
mouths.

D) Sign language was more advanced than spoken language.

£

16. A) Frequently. B) Occasionally.
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C) Seldom. D) Never.
17. A) It was a highly developed language.
B) It was better than any other language.
C) Tt was a basic means of communication among Indian tribes.

D) It was in impossible way to communicate among Indian tribes.
Passage Three
Questions 18 to 20 are based on the passage you have just heard:

18. A) Travelling.
B) Reading novels.

C) Watching movies and looking at photographs.
D) Listening to the radio.
19. A) They tell us stories and important historical happening.
B) They record the actions and habits of ordinary people in the
world.
C) They reveal the living forms and objects in distant space to
us.
D) They represent objects scientifically.
20. A) The advantage of watching movies.
B) The convenient way of travelling.
C) The principles of movies and cameras.

D) Learning through movies and cameras.

Part I Reading Comprehension

Directions: There are four passages in this part. Each passage is
followed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C)and D). You should

BN
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decide on the best choice and mark the corresponding letter on the
Answer Sheet with a single line through the center.

Passage One

Questions 21 to 25 are based on the following passage:

Statuses are marvelous human inventions that enable us to get
along with one another and to determine where we “fit” in society. As
we go about our everyday lives, we mentally attempt to place people in
terms of their statuses. For example, we must judge whether the per-
son in the library is a reader or a librarian, whether the telephone
caller is a friend or a salesman, whether the unfamiliar person on our
property is a thief or a meter reader, and so on.

The statuses we assume often vary with the people we encounter,
and change throughout life. Most of us can, at very high speed, as-
sume the statuses that various situations require. Much of social in-
teraction consists of identifying and selecting among their statuses in
relation to us. This means that we fit our actions to those of other
people based on a constant mental process of appraisal and interpre-
tation. Although some of us find the task more difficult than others,
most of us perform it rather effortlessly.

A status has been compared to ready-made clothes. Within cer-
tain limits the buyer can choose style and fabric. But an American is
not free to choose the costume of a Chinese peasant or that a Hindu
prince. We must choose from among the clothing presented by our
society. Further more, our choice is limited to a size that will fit, as
well as by our pocketbook (£43) . Having made a choice within these
limits we can have certain alternations made, but apart from minor

adjustments, we tend to be limited to what the stores have on their
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racks. Statuses too come ready made, and the range of choice among

them is limited.

21. In the first paragraph, the writer tells us that statuses can
helpus ___ .
A) determine whether a person is fit for a certain job
B) behave appropriately in relation to other people
C) protect ourselves in unfamiliar situations
D) make friends with other people

22. According to the writer, people often assume different sta-
tuses

A) in order to identify themselves with others

B) in order to better identify others
C) as their mental processes change
D) as the situation changes

23. The word “appraisal” ( Para. 2) most probably means

“ ”

A) involvement B) appreciation
C) assessment D) presentation

24. In the last sentence of the second paragraph, the pronoun
“it” refers to “ ",

A) fitting our actions to those of other people appropriately

B) identification of other people’s statuses
C) selecting one’s own statuses
D) constant mental process ‘

25. By saying that “an American is not free to choose the cos-
tume of a Chinese peasant or that of Hindu prince” ( Para.
3), the writer means _____. ‘

@
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A) different people have different styles of clothes
B) ready-made clothes may need alterations
C) statuses come ready made just like clothes

D) our choice of statuses is limited

Passage Two
Questions 26 to 30 are based on the following passage:
There are no blank spaces on the map of Great Britain, the most

carefully mapped piece of geography on earth. No other country was

easier to travel in. And yet I had seen practically nothing of it. But
when I began to think about travelling round Britain, I became excited—
because I knew so little.

The problem was one to perspective. How and where to go to get
the best view of the place. But it was also a problem of itinerary (#f7
g£2). In a place that was crisscrossed (i Bt A {35 4%), my route was
crucial. In choosing a route I was also choosing a subject for my book.
But every mile of Britain had a road through it, there was a track
across every field, a footpath in every acre of the woods.

And then 1 decided to go round the entire coast. .It answered
every need. There was only one coast, it formed on clear route and
this way I could see the whole of Britain. In many respects Britain was
its coast—nowhere in the country was more than sixty-five miles from
the sea. As soon as I decided on the coastal route for my itinerary, I
had my justification( # g3 ) for the trip—the journey had the right
shape; it had logic; it had a beginning and an end.

The greatest advantage in this tour was that the country tended to
move towards its coast; it was concentrated there, deposited against its

beaches like the sea plants brought in and left there by the sea. People

A
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naturally made their way to the coast.

The best trains went to the coast. Many of these branch lines
seemed likely to close soon. Some people said that none would be left
in ten years, and most people agreed that the impending (i 76 @ BE#Y)
railway strike, planned for the early summer, would kill the branch

lines. There were also the green buses and there were footpaths.

26. “There are no blank spaces on the map of Great Britain~
implies

A) people live in every part of Britain

B) railways can take you to every corner of the country
C) map-makers have fully recorded the entire country
D) tourists go to every area in Britain

27. The author said that choosing a route was a problem because

A) he didn’t know Britain very well
B) there were so many possibilities that it was hard to choose
C) a lot of the possible routes were very narrow
D) he wanted to avoid the towns
28. Why did the author decide to travel around the coast?
A) He would never be far from towns inland.
B) He enjoyed visiting islands in this way.
C) It seemed the most sensible route to take.
D) It had the most beautiful views.
29. What does “the greatest advantage” of such a route mean?
A) Lots of people spend their holidays beside the sea.
B) People who live near the sea are usually friendlier.

C) You find interesting people near the sea.



